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1. (a) Solve the inequality

(b) Sketch and name the graph of the following equation
x34-3y2-4x-5 = 0.

2. Find an equation of the circle in the first quadrant that is tangent to both

the x and y axes with centre on the line y+45x—12 = 0.

3 Suppose that.
4x X <~1
f(x):r[ax-l—b ~1'¢x €2
Sx, x32

Find the values of a and b such that f(x) is continuous:at ~1-and at 2,

4. (a) Using the definition of the limit, show that:
lim 2x45=3
X- -]
(b) Evaluate the following limit (if exists)
lim Begl 4 [x]
- i

x4 1

5. Let f(x) = x243x+4.
(a) Using the definition of the derivative, find f*(1).

(b) Find an equation for the tangent linc to the graph of { at x = 1.
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